Bridgeclub Lier *** ClubTornooi *** 4 giften per ronde *** 08/02/2018 NZ OW |gift 1 NZ OW gift 2 NZ OW gift 3 NZ OW gift 4 NZ OwW
1 Gielis Mariette-Geenen Francine 2 Stuer Babs-Brems Tony 1 2 0 6 230 Z3s+3 0 6 230 Z2s+4 6 0 180 NIN+3 0 6 500 W3R!-2
\Y% W he Wi- 4 -De P L

3 Van Waeyenberghe Wi e Preter Ludo a 7 4 2 480 z4s+2 | 2 4 260 z25+5| 3 3 120 Z2N= 4 2 690 N3N+3
5 Van Camp Francois-Hasenbroekx Leo 6 Radeur Bart-De Maeyer Connie

5 3 4 2 480 z4s+2 6 0 720 N3N+4 0 6 90 Z1N= 6 0 720 N3N+4
7 Taeymans Eddy-Dierckx Jeanine 8 De Cat Raf-Hens Jan

6 8 4 2 480 z4s+2 4 2 620 z4s= 3 3 120 Zz2N= 2 4 640 N5SK+2
NZ OW |gift 5 NZ OW gift 6 NZ OW gift 7 NZ OW gift 8 NZ OW NZ OW |gift 9 NZ OW gift 10 NZ OW gift 11 NZ OW gift 12 NZ OW
1 5 0 6 -150 WIN+2 4 2 100 w4H-1 6 0 630 N3N+1 0 6 —-140 W3H= 3 1 2 4 430 N3N+1 6 0 500 WSR!-2] 6 0 140 N2H+1 3 3 460 W3N+2
2 8 2 4 -140 OlH+2 0 6 —620 W4H= 3 3 600 N3N= 3 3 -50 z3N-1 4 8 4 2 450 NS5H= 0 6 —-130 O3K+1 2 4 50 W3N-1 |niet gespeeld
3 4 6 0 50 O2N-1 4 2 100 w4H-1 0 6 400 OlR-4 6 0 120 Z1N+1 5 6 0 6 -50 N6H-1 4 2 200 WSR!-1] 2 4 50 W3N-1 3 3 460 W3N+2
6 7 4 2 =110 Wls+1 4 2 100 w4H-1 3 3 600 N3N= 3 3 -50 z3N-1 72 6 0 460 N5N= 2 4 140 N3H= 2 4 50 W3N-1 3 3 -460 W3N+2
NZ OW |gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW NZ OW |gift 17 NZ OW gift 18 NzZ OW gift 19 NZ OW gift 20 Nz OW
2 5 2 4 -200 N4s-2 4 2 0 PAS 1 5 -140 02S+1 0 6 —-600 O3N= 1 8 6 0 100 wW4s-2 4 2 50 04S-1 1 5 200 N3S+2 2 4 -620 wW4s=
4 1 2 4 -200 N4s-2 4 2 0 PAS 6 0 50 02s-1 4 2 100 02N-1 32 0 6 -130 O3R+1 1 5 -110 028= 5 1 480 N4s+2 2 4 -620 wW4s=
6 3 6 0 -100 N4sS-1 4 2 0 PAS 4 2 -110 02S= 2 4 -150 O2N+1 4 6 3 3 50 W3N-1 1 5 -110 028= 5 1 480 N4sS+2 6 0 -170 W2S+2
7 8 2 4 -200 zZ3N-2 0 6 -50 N2H-1 1 5 -140 03s= 6 0 200 O2N-2 7 5 3 3 50 03s-1 6 0 110 N2H= 1 5 200 w4Kk!-1 2 4 -620 wW4s=
NZ OW |gift 21 NZ OW gift 22 NZ OW gift 23 NZ OW gift 24 NZ OW NZ OW |gift 25 NZ OW gift 26 NZ OW gift 27 NZ OW gift 28 NzZ OW
1 6 1 5 -400 N4sS-4 1 5 =50 N3s-1 4 2 100 04H-1 0 6 —-120 W2N= 3 8 |niet gespeeld 2 4 110 N1K+2 6 0 140 N2H+1 2 4 -140 02S+1
2 4 1 5 -400 N4sS-4 5 1 110 z2s= 4 2 100 04H-1 6 0 100 O4H-2 5 4 0,3 5,7 -1470 W6N+1] 5 1 600 N3N= 4 2 =50 N2H-1 0 6 —200 N2N-2
5 8 4 2 -200 N35-2 5 1 110 N2S= 0 6 —140 O2H+1 2 4 -100 N2S!-1 6 2 3 3 -1440 W6N= 5 1 600 N3N= 1 5 -100 N2H-2 5 1 -110 028=
7 3 6 0 100 wsH!-1] 1 5 =50 z2s-1 4 2 100 04H-1 4 2 -50 N2Ss-1 7 1 |5,7 0,3 -660 O3N+2 0 6 -100 N2R-1 1 5 -100 N2N-2 5 1 -110 028=




